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In the name of God

MIMO Control Project

% Please "Run" the program from this script
clear all

clc

close all

o\



global A B C Q HR t control K S Xc I u

I=0;
%% Inputs
A=[0.038 18.984 0 -32.174 0
-0.001 -0.632 1 0 0
0 -0.759 -0.518 0 0
0 0 1 0 0
0 -250 0 250 0];
B=[10.1 0 0.025 0 0
0 -0.0086 -0.011 0 01"';
C=[1 0 0 0 0
0 0 0 0 017
Q=diag ([1 1 1 1 11);
H=diag ([0 0 0 0 01);
R=diag ([l 10071)
Xc=[0 0 0 0 0];
X Initial=[-5 5*pi/180 0 0 0],
tf=25;

%% Call Control ODE45 File

H*Xc']) ;
K=X control(:,1:25);

%% Call Main ODE45 File

[t,X]=0ded45 (@Mimo ODE45 Main, [0,tf],X Initial);

%% Plots

figure (1) ;

set (gcf, 'color','w');

set (gca, "fontsize',12);

subplot(2,2,1);

plot ([t(1l),t(end) ], [Xc(1l),Xc(l)]+250, 'b-", " 'linewidth',4); hold
on

plot(t, (X(:,1)+250),'r-","linewidth',2);

xlabel ('t (s)'); ylabel('u (m/s)'");

subplot(2,2,2);

plot ([t (l),t(end)], [Xc(2),Xc(2)]1*180/pi+2, 'b-", "linewidth',4);
hold on

plot (t,X(:,2)*180/pi+2, 'r-"', 'linewidth',2);

xlabel ('t (s)'); ylabel ('\alpha (deg)"');

subplot(2,2,3);

plot ([t (1l),t(end)], [Xc(3),Xc(3)]1*180/pi, 'b-"', " 'linewidth', 4);
hold on

plot (t,X(:,3)*180/pi, 'r-"', " "'linewidth', 2);

xlabel ('t (s)'); ylabel('g (deg/s)');

subplot(2,2,4);

plot ([t (l),t(end)], [Xc(4),Xc(4)]1*180/pi, 'b-"', " 'linewidth',4);
hold on

plot (t,X(:,4)*180/pi, 'r-', 'linewidth', 2);

xlabel ('t (s)'); ylabel ('\theta (deqg)"');

figure (2);



set (gcf, 'color', 'w'");

set (gca, "fontsize',12);

plot ([t (1), t(end) ], [Xc(5),Xc(5)]+2400, "b-", "linewidth',4);
hold on

plot (t,X(:,5)+2400, 'r-', '"linewidth',2);
xlabel ('t (s)'"); ylabel ('Altitude (m)");

figure (3);

set (gcft, 'color','w");

set (gca, 'fontsize',12);

subplot(2,1,1);

plot (linspace(0,tf,I),u(l,:), 'k=-"'","linewidth', 3);

xlabel ('t (s)'); ylabel('\delta th (%)"');
subplot(2,1,2);

plot (linspace(0,tf,I),u(2,:)*180/pi, 'k-"', 'linewidth', 3);
xlabel ('t (s)'); ylabel('\delta e (deqg)"'");

ontrol ;ODE45_ |11
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% In the name of God

% MIMO Control Project

ODE45 file to compute K & S

function dX control=Mimo ODE45 Control (~,X control)
global A B R Q Xc

dX control=zeros (30,1);
K=reshape (X control(1:25),5,5);

S=X control (26:30);

o\

dK=-K*A-A'*K-Q+K*B* (R"-1) *B'*K; % Equation 20
dS=- (A'-K*B* (R"-1)*B"') *S+Q*Xc'; SEquation 21

dX control (1:25)=dK;
dX control (26:30)=ds;
end

ODEA45_Main s
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%% In the name of God

% MIMO Control Project

ODE45 file to compute state variables
function dX=Mimo ODE45 Main (t,X)

global A B R K S t control I u

o\©



I=1+1;
Kl=reshape (interpl (t control,K,t),5,5)
Sl=interpl (t control,S,t);
u(:,I)=—(R"-1)*B'*K1*X-(R"=-1)*B'*S1"';
disturbance=unifrnd(-3,3) *pi/180;
dX=A*X+B* (u(:,I));

disp(t);
end
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